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instructions :
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1. Examinee must write his/her Roll Number in the
specified.box on the top left hand comer of this page.
Answers are required lo be marked only on the
Computerised O.M.R. Answer sheet which is being
provided to the examinee.

2. Besides filling in the Roll Number, the examinee has to
put histher signature on the Answer-Sheet and also fil!
other required details like Name, Roll Number, Question
Booklet code, etc. as indicated on the Answer OMR
Sheet. If these details are nat fillad in by the examinee,
hisfher Answer Sheet will not be evaluated.

3. For each question, there are four alternative answers,
out of which only cne is correct. Examinee must darken
the circle of correct option in the Answer Sheet by Black
Ball Pen only.

4. There are 32 (28+4) pages in this Question-Booklet
including 1 page for General [nstructions and three
blank pages for Rough Work in the last. in case
an examinee receivaes an incomplete or defective
Question Booklet, he/she should make a request
to the Room Invigllator to change the same within
10 minutes of start of the exam.

5. This Question Bockiet contains 100 gquestions from
following subjects :
(1) Maths Q. Nos. 1-50
{2) Science Q.Nos. 51-100

6. Each question carries 1 mark and % mark will be
deducted for each wrong answer.

7. Possession and use of electronic devices such as
Calculator, Cellular Phone, Digital Diary, Log Table,
Pager, etc., are restricted during the examination.

8. Any leaf from the Question Booklet should not be
detached. After the Examination, Question-Bookiet
and Answer-Sheet must be handed over to the Room
Invigilator.

9. During examination the examinee will not be allowed
to leave the examination hall till the END of the
Examination.
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MATHEMATICS R
1. If the zeroes of polynomial 1. qﬁw B2 +x+1% a—-b,
x3-3x2+x+1area—-b,a,a+b b2 ?ﬁa—baa+b§q
thena—Db,a,a+bare a,a+Dde, P
A) -1,-2, -2 A) -1, -2, -2
B) 1, v2,~-2 B)1,V2,-V2
C) 1, V2. \2 C"-\’?*’EJ_
D) 1, —\B 3 D) 1,-v2, -2
2. The pair of lines 5x— 4y + 8 =0 and 2. Wi Sx—4y +8=03M7x+6y-9=0%
7X+ 6y ~9=0are TmE
A) Parallel A) FRHRR
B) Perpendicular B) waed
C) Intersect at a point C) us fig w vt
D) Collinear D) wtdt
3. Half the perimeter of a rectangular 3. TF AAThR siten et ders qweht
garden whose length is 4 m more than e A 4 . 1ftrs B, Fi ofmm = amn
its width is 36 m. The dimensions of 36 W, ¥ | i <1 fomd ¥
the garden are
A) 20 m, 16 m A) 201f., 16 #i.
B) Sm'4m B) Stﬂ., 4‘“.
C)14m,18m C) 144t., 18 4.
D) 4m, 36 m D) 4., 36 .
4. Five years ago, Nuri was thrice as 4. ais 99 g, T At 3 A A g i
old as Sonu. Ten years later, Nuri Ton ot | 10 9 gy, T4 it o A A
will be twice as old as Sonu. How g ﬁtfﬁ Uil T i 5 i Y
old are Nuri and Sonu ? Arafia?
A) 40 yrs, 20 yrs A) 40 a9, 20 9§
B) 50 yrs, 30 yrs B) 50 =, 30 94
C) 60 yrs, 30 yrs C) 603, 30 7§
D) 50 yrs, 20 yrs | D) 50 a¥, 20 7%
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. 5 The sum of the reciprocals of 5. &AM it i = g 7 vle ol i ot a1y
Rehman’s ages, 3 years ago and 1
1 el T i v L R, o Sweht ade
5 years from now is —, then his a3 3
present age is
A) Syears A) 54
B) 6 years B) 6
C) 8 years C) 8=d
D) 7 years D) 7 a4
6. Value of k for the equation 6. 2 WA T et ST ok (x — 2) + 6 = 0
kx (x - 2) + 6 = 0 having two equal & fora k Fam &
roots is A) 4
A) 4
B) 6
B) 6
C) o C)o
D) 24 D) 24
7. Which of the following is an A.P. ? 7. FeiiRes 3 & -t o i it & 7
A) 2,4,8, 16,... A) 2,4,8,16,...
B) —1 o’ -6,-2,2,... B) —10, -6, -2, 2,...
C) 0.2, 0.22, 0.222, 0.2222,... C) 0.2, 022, 0.222, 0.2222,...
D) 1,3,9, 27,... D) 1,3, 9, 27,...
8. 30" term of the A.P.: 10, 7, 4,... is 8. WHick ARt 10, 7, 4,... W30 T wE d
A) - 74 A) ~74
B) - 80 B) - 80
C) -77 C)-77
D) -83 D) -83
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" 9.

10.

11.

12.

If A ABC ~ A DEF and their areas are
64 cm? and 121 cm? respectively and
EF =15.4cmthen BCis

A) 8

B) 15.4

C) 11.2

D) 88

if ABC is an equilateral triangle of
side 2a then length of its altitude is

A) 4a
B) 3a
C) V2a

D) V3a

Point on the x-axis which is equidistant
from (2, -5) and (-2, 9) is

A) (-7, 0)

B) (0,-7)

C) (7,0)

D) (0, 0)

Coordinates of the points of trisection
of the line segment joining (4, —1)
and (-2,-3) is

A (-759{-%-2)
B) (1,0, (0, 1)
C) (0,0), (2, 2)

) (0.-75).(2-%) -

9. a2 A ABC ~ A DEF 3R 3 &a%d

FHY: 64 A.1.2 3w 121 A2 €3t
EF = 15.48.1. 8, @i BC ?

A) 8

B) 15.4

C) 1.2

" D) 88

10. 3R ABC T aweg fngw & forehi e

2a, WIMER
A) 4a

B) 3a

C) V2a

D) V3a

11. x-u18 W =g f&ig 5t (2, -5) 3 (-2, 9)

LE:UICEAR
A) (-7.0)

B) (0, -7)

C) (7,0)

D) (0, 0)

12. (4, -1) 3R (-2, -3) I e T W@rES

% gaber figaelt & i §

A (-%:9).(-75-2)
B) (1,0), (0, 1)
C) (0,0), (2, 2)

D) (0.-74)-(2-%)

3VD



13.

14.

15.

The angle of elevation of the top of a
tower from the point on the ground,
which is 30 m away from the foot of the
tower is 30°. Height of the tower is

A) V3m
B) 10v3m
C)10m
D) 3m

The angle of elevation of the top of
a building from the foot of the tower
is 30° and the angle of elevation of
the top of the tower from the foot of
the building is 60°. If tower is 50 m
high, height of the building is

2
A) 2 am
B) 394m
3
C) 16,m

D) 1694m

How many tangents can a circle
have ?

A) one
B) two
C) infinite

D) zero

|

13. HiR % i &1 e w (S forg, foreht
fr ¥ s g 304, B, TR Aw
30° % | W i J=d &

A) 3 .
B) 103,
C) 10
D) 3.

14, AR TR ¥ TR % IS 61 ST B0
30° 2 3Tt 3una o snuR @ daR 3 i =1
3999 HIor 60° ® | 3% dAw 50 ., I=h
?, D@ H I R

A) 2% .

B) 394 .
C) 163, .

D) 1624 .

15, T g0 it o woei tamd 8 g € 7
A) TF
B) &
C) 3rFd

D) ¥

3V



| E WS T

16.

17.

An umbrella has 8 ribs which are
equally spaced. Assuming umbrella
to be a flat circle of radius 45 cm the
area between two consecutive ribs

is (use n= 22/7)

28 2
A) 22275 em

22277 em?
28

22275
28

22279 om?
28

B)

C) cm?

D)

Area of a sector of angle p
(in degrees) of a circle with radius R is

A) (2=R)

720°

2rR?
B) 720°( nR)

©) 360 (2xR)

(2nR?)

D) 360

18. Atoyisinthe form of a cone of radius

3.5 cm mounted on a hemisphere of
same radius. The total height of the
toy is 15.5 cm. The total surface area

of the toy is (u: 22/,)

A) 2143cm2  B) 214.4 cm?
C) 2146cm?2 D) 214.5cm?

16. T BTd F SR §h W w8 wifEi @ |
B w45 A1t Fi B awen o 99
g9 WHd gC q Fiw wiEt & i
RELTIRS (11:=22/7)

28 )

A) 22275 .M.
20277 » - 5
28 a. 1.

22275
q.11.2
28

B)

C)

22279 .2

D)

17. S RIS @ F = p (R ) F
W TS T & B

(2nR)

A) 720°

P (oxR?
B) 7209( nR%)

(2nR)

©) 360

(2xR?)

D) 360

18. T flgei 3.5 3. B S wwyg &
T 1§ o oF B & o o e W

¥ | figein i 5 3= 155 A &
faeiit =1 1 T Sww (n=2%)

A) 2143012 B) 214.4 932
C) 214.6@.1.2 D) 2145a.2

aw



19. It P(E) = 0.05, then probability of
‘notE’is
A) 1
B) 0.95
C) 0.90
D) 0.75

20. Adie is thrown once, the probability
of getting a number lying between

2and6is
3 1
A)Z B) 2
1
C) — D) 1
) 3 )

21. Adie is thrown twice. Probability that
5 will not come up either time is

A 14

36

1.

B) —
) 2
C) 1

25

D) %

22, A bag contains 5 red balls and
some blue balls. If the probability of
drawing a blue ball is double that of
a red ball then number of blue balls

in the bag
A) 10 B) 5
C) 15 D) 20

23. HCF of 196 and 38220
A) 90 B) 45
C) 15 D) 196

Fage No. 8 §

1 1
19. 9R P(E) = 0.05, 0 'E T8 F MR &

A) 1
B) 0.95
C) 0.80

D) 0.75

20. HUH B TFH AT GF AR, 23R 6F

ot il ¥ dEm e w0 i i d
3 1

A) B) 7
1

C) 5 D) 1

21. U 997 & o1 Shepl ST & 1 5 % fedi ot
R T M I iR &

A) 14
36
1
B —
)2
C) 1
25
D) %

22. WATA 5T s g i & 19R
T TT h1 77 ¥ 7va Hfieft i & Freem
<t it A 2, A 3 3 At 6
Tend
A} 10 B) 5
) 15 D) 20

23. 196 3 38220 FH.ALY. T

A) 90 B) 45

C) 15 D) 196
3vD
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24. If HCF (306, 657) = 9, then
LCM (306, 657) is
A) 22328
B) 22338
C) 22348

D) 22358

25. Choose the rationai:number.
1
A) ﬁ
B) 7./5
C) 6+2

D) 7449

26. Quadratic polynomial having sum
" &nd product of its Zeroes /2, 1/3
respectively is

A) 3x2-3/2x+1
B) v2x2-3x+1
C) -3x2+3v2x+1
D) 3x2+3V2x + 1

57. The zeroes of 3x4 +6:x3—2x2— 10x -5

are J§ and — E . The remaining
3

Zeroes are
A) -1, -1
B) -1, 1

C) 1, -1

D) 1, 1

Page No. 9

24. g W.ALT. (306, 657) =9
.491.9. (306, 657) 8
A) 22328

B) 22338
C) 22348

D) 22358

25. uftr dem e |

i
A) ﬁ
B) 745
C) 6++/2

D) 74/49

26. T fETdh IgEE F I F An I
TR A2, /3R TR

A) 3x2 - 3v2x + 1
B) vV2x2—3x + 1
C) —3x2+I3J§x+1
D) 3x2 +32x + 1

27. 3x* + 6x° —2x2 - 10x ~ 5 F I %
aﬂz_Jg%lamsm

A) -1,
B) -1,1
c)t1,-1

D) 1,1

3VD



28. A fraction becomes % when 1 is

subtracted from the numerator and
it becomes % when 8 is added to its

denominator. The fraction is

S
A) 12

5
B) - =
) 12

12
€)%
12

D) &

29. If the product of two consecutive
positive integers is 306, then the
integers are
A) 16,17
C) 18,19

B) 17, 18
D) 19, 20

30. Roots of the equation
V2x2 4+ 7x+5.2 =0are

A) %.-Jﬁ

i Page No. 10

28, aaaimﬁ@rmzmm%a“mmﬁm%
& st R wis S| w %ﬁraﬁﬂ%l
At

S
A) 12

B) -5
12

12

C) ?
12
D) —?

29. I q Wi vTeTH Uil 1 UHES
306 &, 9 Qi &

A) 16,17
C) 18,19

B) 17, 18
D) 19, 20

30. 9T 2x2 + 7x + 542 =0 %
LA

5
A) ﬁl_ 2

B) -;/5—5- V2

5

C) -5 -2

D) %JE

3VD



32.

33.

34.

O SA A

31.

The number of terms in the
A.P.:18,15%, 13, ..., — 47

A) 27

B) 28

C) 29

D) 30

How many terms of the A.P.
g9, 17, 25,... must be taken to give a
sum of 636 ?

A) 10 B) 12
C) 14 D) 16

ABCD is a trapezium in which
AB || DC and its diagonals intersect
each other at a point O. Then

A) AD || BC
AO CO

B) bo " BO

AO CO

C) 8o DO

AB _AO
D) b¢ " Do

D is a point on the side BC of a triangle
ABC such that |ADC =|BAC . Then

A) CA2 = CB.CD
8) CB2 = CD.CA
C) CD2 =CB.CA
D) AB2 = BC.CD

Haem
A) 27
B) 28
C) 29
D) 30

30, §36 T AT & 3 ferg @R Soft
9, 17, 25,... % i & forg s =nfeq ?

A) 10
C) 14

33. ABCD s wels Sgyw & frad

39, guiaT Aoft : 18, 15%, 13, ..., — 47 H W&

AB || DC 3it sa ol @ g = foig

OWINDIFAE, A

A) AD || BC

Page No. 11

34. D fingst ABC 1 9= BC W G forg s
¥R E fF |[ADC=|BAC , @

A) CA2=CB.CD

B) CB2=CD.CA

C) CD2 = CB.CA

D) AB? = BC.CD

3VD



35.

36.

37.

38.

39.

N

Centre of the circle passing through 35. (6,-6), (3, ~7) 3kt (3, 3) fiigafl 4 vy
the points (6, — 6), (3, - 7) and EISE KO

(3,3)is

A) (-2, 3) B) (3,-2) A) (-2, 3) B) (3,~2)

C) (3, 2) D) (2, 3) C) 3,2 D) (2, 3)

If 15 cot A = 8 then sec A is

) %y
B) ¥s
o 7%
D) 1%

2 tan? 45° + cos2 30° - sin2 60° is 37. 2tan?45° + cos? 30° — sin2 60° 2
A) 0 A) 0

B) 2 B) 2

C) 1 C)1

D) V3 D) V3

tan 48° tan 23° tan 42° tan 67° is 38. tan 48° tan 23° tan 42° tan §7° g
A) O A) 0

B) 2 B) 2

C) 1 C) 1

D) V3 D) V3

CosA  1+sinA _ CoSA  1+sinA _

1+sinA cosA 38.

A) 2sec A
B) 2 cosec A
C)1+sinA

D) cos A |

36. 92 15co0t A=8 qisecAd

A) %7
B) %5
o "%
D) "%

1+sinA cosA
A) 2sec A

B) 2 cosec A
C)1+sinA
D) cos A

3VD
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40. From a point Q, the length of the 40. QY & qmmﬁmﬂémﬁ
tangent to a circle is 24 cm and the o4 A 2 s Iz A QA gh 253R.
distance of Q from the céntre is 25 cm. 3 | e
The radius of the circle:is
; A) 12 A) 12
i B) 7 — B) 7
OV 125 . . . e C) 125
D) 7.5 D) 7.5

41. Two concentric circles are of radii 41, oA ga 52, i3 A, et
5 cm and 3'cm. The length of the %%IﬁgﬁiﬁWﬁéﬂlﬁGﬁ@%%

chord of the larger circle which AR
touches the smalier circle is

A) 8 a4t

A) 8cm
B) 2 &t

B) 2cm
C) 5 om C) s&..
D) 3@.f.

D) 3cm

42. A chord of a circle of radius 10 cm 42, Fisar 10 2., T8 T 99 T R
subtends a right angle at the centre. U R S & | T 861 2T 8T B
Area of minor segment is

e L i r ol [ e YT o

et bk
Ly iy r Sty

A) 27.5 cfna A) 275842
B) 27 cm? B) 27 &..2

; C) 28 cm? C) 28 aH1.2

: D) 28.5 cm? D) 28.5@#.2

T

b

W i T
W

Al
e

> Pago o 13) 3D
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43. Area of the triangle whose vertices 43. 38 fige =1 gawa Rras Tig (-5, -1),
(-5, -1), (3, -5), (5, 2) is (3,-5), (5,2) ¥
A) 30 sq. units A) 30 7 & §

B) 31 sq. units B) 31 =1 3rd
C) 32 sq. units C) 32 7 g
D) 33 sq. units D) 33 & 5378

A4, (1+tane+sece)(1+oote—cose_c9)= 44. (1 +1an 6+ sec6) (1 +cot6—cosec 6) =
A) 1 A) 1
B) 0 B) 0
C)3 C)3
D) 2 . D2

45. Sum of the areas of two squares 45, 31 Tl & S9%at T W 468 W.2 % | gfR
is 468 m2. If the difference of their 3% GRETYT 1 3R 24 MR L A It
perimeters is 24 m sides of the two et €
squares are A) 670, 93,

A)6m,9m

B) 18m, 27 m B) 181f., 27 .
C) 12m, 18 m C) 127ft., 18 #.
D)3m,4m D) 3+t., 44,

46. The sum of the third and the seventh 48. T gHIR Aot & diel st aaS e s am
terms of an A.P. is 6 and their S%Sﬁtﬁuﬂms% | TR A o
product is 8. Sum of first sixteen S dt A
terms of the A.P. are
A) 20 A) 20
B) 48 B) 48
C) 24 C) 24
D) 10 D) 10

B m 3VD
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47. Agulab jamun contains sugar syrup
upto about 30% of its volume. If each
gulab jamun is cylindrical with two
hemispherical ends with length 5 cm
and diameter 2.8 cm. Then syrup
that would in 45 gulab jamuns is
A) 338 cm?

B) 330 cm3
C) 348 cm3

D) 340 cm?3

48. A metallic sphere of radius 4.2 cm
is melted and recast into the shape
of a cylinder of radius 6 cm. Height
of the cylinder is
A) 274 cm

C) 3.5cm

B) 3cm
D) 4cm

’

49. The slant height of a frustrum of a
cone is 4 cm and the circumference
of its circular ends are 18 cm and
6 cm curved surface area of the
frustrum is
A} 24 cm?

B) 48 cm?
C) 12¢cm?
D) 60 cm?

50. The sum of the probabilities of all the
elementary events of an experiment is

A) 1 B) 0
1 3
C) 3 D) 3

47, Th TS I 6% AR H 30%
| & | 4R T o S AR
B R warg 5.0, iR 2.8 3.7, =@
T QN T BR A A 45 AW
S fereft =t wnfea €nft ?

A) 338 9.3ft.3
B) 330 &.7.3
C) 348 8. 713
D) 340 &3

48. a1 4.2 9.1, 1 T HTcdieh T [erarn
a1 & afit 6 .5, F B I & aer
# ol § g T | S i)
£ 1R |
A) 2.74 Q..
C) 3.5 &4,

B) 3%.1.
D) 4 4.4

49. U g ¥ fvuren il foefen ram 4 Q1. ®
ali 5% garhR S i ufea 18 AL
AR 6 A, ¥ | v 1 TH TS SFE &

A) 249.1H.2
B) 48 9.1f1.2
C) 124.4.2
D) 60®.5.2

50. TF Wi % wf} arfeas weAe W
ifrepenail & AT ®

A) 1 B) 0
1 3
) 3 D) %

5 | PageNo. 15 3VD



51.

52.

53.

PHYSICS

A lens with power—-2D indicates that
the lens has

A) Focal length of — 0.5 m and is
concave

B) Focal length of — 0.5 m and is
convex

C) Focal length of — 2 m and is
concave

D) Focal length of — 2 m and is
convex

No matter how far you stand from
a mirror, your image appears erect
and the image distance remains
same as that of the object distance.
The mirror is likely to be

A) Plane

B) Concave

C) Convex

D) None of the above

An object is placed at a distance
of 10 cm from a convex mirror of
focal length 15 cm. The position and
nature of the image is

A) 30 cm, in front of the mirror,
real and inverted

B) 30cm, behind the mirror, virtual
and erect

C) 6 cm, behind the mirror, virtual
and erect

D) 6 cm, in front of the mirror, real
and inverted

Page No. 16

A e

vifaew

51. 2D Wiy 1 T a9 <wtar & % 39

i
A) BIFE T — 0.5 Hi & ofit 77 sradw &

B) W gl —~ 0.5 M ¥ ol am swr &
C) B gt — 2 7 ¥ ik 9% s €
D) wied gft ~ 2 7ft & afik e v &

52, 3581 e T8 vgar for g dur A et

@, A9 Ve dhen SR
RESCEEEL R R

A) waS
B) sraae

C) 3@

D) 90 § 4 &S 98

53. T g 15 At hl Hiwa g ot o Ia

Tqor & 10 At ot g et @ |y A

feufa af wpfar 2

A) 30 Tft, gdur & wr, iy 3R
m -

B) 30 &, Tur F v, smam ik
e

C) 6 aft, dw & id, smrht ik
e

D) 6 a1, dvr & A, I afit
I

3VD
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54. Find the total resistance in the
circuit.

Ri

4[ y— MM ¥

—_— Rz

N
P

N

CURF2BH;220Q
R, =30'Q, Ry =20 Q, R; =60 Q
B) 140

20
C) 16 Q D) =

A) 18 Q

55. The phenomenon of production of
induced current in a coil placed in
a region where the magnetic field
changes with time is

A) Lorentz force L
B) Electromagnetlc mductlon
C) Eddy currents
D) Joule heating -
56. Which of the following is a non-
conventional source of energy ?
A) Fossil fuels
B) Hydro power plant
C) Thermal power plant
D) Solar energy

54. gfde # 3= viodg F1a HIY |

Ri
BN, V7, V.V, W—

®

_fmf
Rs

n

R,=5Q,R, =200
H3=300, H4=2OQ,H5=GOQ
B) 14Q

20
C) 16 Q D) =

A) 18 Q

55. TV ¥ 1Y Yorhia 8 age arel Uk &
e gt Y @ A W Rgd % I
$ aftge 2
A) Eis o e
B) frgereet v
C) T =R
D) ST %
56. PrefRaa 3 ¥ HH-a1 S o R-TET
R
A) SadeA
B) Tt farega g
C) dnffa Fwil wa=
D) ¥R F=it
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57.

58.

59,

When object is placed beyond the
center of curvature of a concave
mirror, then the size of the image is

A) Enlarged
B) Same size
C) Diminished

D) Highly enlarged

A ray passing th'rt')ugh' the principal
focus of & concave mirror after
reflection

A) Wil retrace the same path of
incident ray

B) Will reflect obliquely

C) Will emerge parallel to the
principal axis

D) Will'appearto diverge from the
principal focus

The larger value of absolute refractive
index in the following list of materials
are

A) Fused quartz
B) Rock salt
C) Sapphire
D) Diamond

1

57. S W TG F Th IFawel 99 F Fehar
F% % 1S TE 9 8, ) 36 im0
THR BT 8
A) Fg1 g

B) @M
C) 81
D) rcuftr wgr gon

58. T el T4 3 T HiE A o g8
o v ¥ e

A) rafia fror S auR g w @t amm
STt

B) ferat wrafda gnft
C) Y9 315 % FHHIRK IF

D) wur wiwg ¥ faud g€ wda
il

59. gere &t Frefafan et F gof sroadie
# A A}

A) IAfET F\ES
B) dur T
C) Hfrem

D) €
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60.

61.

62.

An electron enters a magnetic field
at right angles to it as shown in the
fig. The direction of force acting on
the electron will be o

. 'Electron

——

a
L

‘|54 = Magnetic field

= PP
>

v

A) to the right

B) to the left

C) out of the page
D) into the page

At the time of short circuit, the
current in the circuit

A) reduces substantially
B) does not change
C) increases heavily
D) vary continuously

100 J of heat are produced each
second in a 4 Q resistance. The
potential difference across the
resistor is

A) 5V
B) 20V
C) 10V

80. T gz R it RaT SigeR T o
2 o R AR fa ? | JEHRA T
_aﬂ%m@raaaﬁ’fﬁmﬁlﬂ’t

J\W

A) g 3R
B) = 3K
C) I & =t
D) 7= & i

61. 71T ke ¥ T, affe ¥ frg@
A) TEga: F9 BN 8
g) ufafda ¢ ot
C) rcaft sget @
D) TATIAR sEerdh &

62. T 4 Q W & 100 J Fo1 ofd ¥
e | s § RnErm e

A) 5V
B) 20 V
C) 10V
D) OV

D)ov .
D 3vo




63.

64,

65.

66.

The human eye can focus objects at
different distances by adjusting the
focal length of the eye lens. This is
due to

A) Astigmatism

B) Accommodation
C) Near-sightedness
D) Far-sightedness

How much work is done in moving a
charge of 5 C across two points having
a potential difference of 10V ?

A} 50J B) 0.5J

C)2J D)o

Resistance of the conductor
depends on

A) Length

B) Area

C) Temperature
D) All the above

The resistance of a metallic rod
of length 1 m and radius 20 cm
is (given resistivity of the material
rod = 2 x 1078 Qm)

A) —Z-XTO—GQ
b1

B) 95 10%0
b4

) 2x10%Q
T

D) 22,100
T

Page No. 20

63. a7 37T 0 i B g qarra

w1 g Bfm gl W awgat =t 2w
aHNE |98 %ﬁmﬁm%l
A) gy

B) 4aTEISH

C) Fieregfeed

D) g

64. 10 V % fawaimt arat 9t figait & oiw

5 C F 0% e S A i i e v i @

A) 50 J B) 0.5 J
C) 2J D) 0

65. T gae 1 gy R it

FAATE |

A) T
B) SE%e
C) WM

D) 3w wt

66. 1 it i s i 20 Tft i fsan aeh

T Ui B8 &1 Yoy (o3 5 wrd
wferesar = 2 x 1078 Q)

A) 2,10%q
T

B) 93 10%0
T

c) 2x107%q
b1

D) 9—'£><10_GQ
T
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67.

69.

70.

71.

N IR =
1

[ Rl
1 g

CHEMISTRY

Aqua regia is a mixture of conc. HCI
and conc. HNO in the ratio

A)3:1 B)1:3
c)2:3 . D)3:2

Chemical formula of cinnabar
A) HgO

B) Hg,Cl,

C) HgS

D) HgCl,

The process of heating a substance
in the absence of air is called

A) Calcination

B) Roasting

C) Evaporation

D) Thermit reaction

is added to Pickel as
preservative.

A) Vinegar

B) Acetic acid

C) Glacial acetic acid
D) Baking soda

Sweet smelling compound among
the following is

A) Diethyl ether
B) Diethyl ester
C) Ethanoic acid
D) Propanoic acid

L IDEREEIC]
67. qaaﬁﬁmwﬁal-lcnﬂmﬁamosm
C Fogmaifiam
A) 3:1 B)1:3
c)2:3 D) 3:2
68. %ga(ﬁzg)wwmﬁmg%
A) HgO
B) HgoCly
C) HgS
D) HgCl,
69. a@ﬁa@f&ﬁﬁﬁ:ﬁmﬁﬁnﬁm
1 Wik SEend 8
A) FramA
B)
C) =i
D) o aAffsRaT
70. = sen ¥ ofead H e A
RN A@E |
A) T
B) ufufes s
C) ™R s s
D) sifeh |1

71, < & e g 3 e A &

A) STEFUTEE o
B) SIEEUTSH X
C) 3o 37
D) SUTseh 270t
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72.

73.

74,

Sodium hydroxide reacts with zinc
and liberates

A) Hydrogen
B) Oxygen
C}) Sodium

D) Carbon

MnQ; + 4HCl — MnCl, + 2H,0 + X,
where X is

A) O,

B) Mn

C) H,

D) Cl,

Decomposition of Silver bromide is
an example for :

A) Exothermic reaction

B) Endothermic reaction

C) Precipitation reaction

D) Double displacement reaction

I TR
72. GifEam wrEgiauTse (% % T sfufen

a1 & afRk o Fal & |
A) TIFgRH

B) tiadteH

C) qifemm

D) e

73. MnQ, +4HCl - MnCl, + 2H,0 + X,

wEl X &
A) O,
B) Mn
C) H,
D) Cl,

74. TR Fvarge % e 1 sEww@ R
A) et arfirfran
B) Fritauidt sty
C) aragam P
D) fefareerm arfrfan
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75.

76.

78,

79.

The element which is sonorous
A} Aluminium

B) Gallium

C) Selenium

D) Suiphur

The metal which possess very low
melting point

A) Sodium
B) Potassium
C) Lithium

D) Caesium

Nature of CuQO is
A) Acidic

B) Basic

C) Neutral

D) Amphoteric

Amphoteric oxide is
A) ZnO

B) K;0

C) Na,0

D) CaO

The metal which reacts with cold
water

A) Pb
B) Al
C) Fe
D) K

75. 98 e I A ]
A) Tegrifam
B) fferm
C) Aafrm
D) EFR

76. T vrg Fyae T orda e 8
A) wifsam
B) qefimm
C) wiftrm
D) Hifsm

77. CuO i ygir &
A) 1™
B) @i
C) ST
D) Swaui

78. Iyl TS ?
A) ZnO
B) K,0
C) Na,0
D) CaO

79. 9% W S Yiiae 9w o | AR
EaCikd

A) Pb
B) Al
C) Fe
D) K
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(N

80. 2PH(NO3);—%— 2PbO + 4NO, +0; . 80. 2Pb(NO3),—X—5 2PbO +4NO, +0, .
Here X is ' T|X B
A) Ni A) Ni
B) H,S0, B) H,SO,
C) Heat C) s
D) Suniight D) drowEsm
81. Glucose combines with O, in the 81. TN TR TR Y Fiwmsit A 0, &
cells of our body and provides T W SrR T ol WeH e 1 T8
energy. This reaction is called Hffr e ®
A) Combination A) GEFE
B) Respiration B) &
C) Digestion C) 9=H
D) Combustion D) <&
82. Bronze is the alloy of 82. i ____ tfumengd
A) Cu & Sn A) Cu 3R Sn
B) Cu&Zn B) Cu 3 Zn
C) Pb & Sn C) Pb 3k Sn
D) Cu&Pb D) Cu 3R Pb
83. Formula of washing soda 83. U Wi F g B
A) Na,CO,.10H,0 A) Na,COs4.10H,0
B) Na,C0Oy.5H,0 B) Na,CO4.5H,0
C) Na,C0O4.4H,0 C) Na,CO,.4H,0

D) Na,CO, D) Na,CO,
s CPEE vD



I
BIOLOGY

84. The insertion of Copper-T in the
uterus to prevent pregnancy falls
underwhich category of contraceptive
methods ?

A) Surgical method
B) Barrier method

C) Intra uterine contraceptive
device

D) Chemical method

85. Which category of organisms forms
the starting point of a food chain ?

A) Secondary consumers
B) Herbivores

C) Producers

D) Tertiary consumers

86. Amoeba takes in food using
temporary finger like extensions of
the cell surface known as

A) Flagella

B) Villi

C) Pseudopodia
D) Cilia

87. Which of the following reproduces
by multiple fission ?

B) Plasmodium
D) Amoeba

A) Bacteria
C) Yeast

Sty

84. miurw = Je & forg il § FR-3
s mifRe Riftrgt & form soft
Ay ?

A) g fafy

B) 2wty faftr

C) et iy MR yomett
D) T faf

85. Sfial 1 F-w T T AR gGel
amifve fig  ?
A) Tedias s
B) Wt
C) 3R
D) gt I
86. nfian FfH 73 F it el S

TEATAT 1 AR W G SIS T80 Tl
th@__ wwad

A) FunfvEs
B) 37 (fore)

C) W (ggraifea)
D) s+t (diferm)

87. Frafiitea o8 A SgEeA g SR T & 7

A) Sfamg B) wiriifean
C) i D) swfiem

0 avo



" 88. .

89.

90.

Hormones secreted by which of
the following gland are responsible
for people who are either dwarfs or
giants ?

A) Thyroid
B) Hypothalamus
C) Pituitary
D) Adrenal

Which among the following is the
product of fertilisation ?

A) Gamete
B) Polien grain
C) Zygote
D) Embryo

Gregor Johann Mendel was bom in
the year

A) 1822
B) 1832
C) 1852
D) 1884

88. fifafga # A g 1R & g0 =g
TR A & 9 3 e B S R
ITEHET R ?

A) "TRiTe
B) Juw=ds
C) W

D) wfge

89. Fefifga d F-wr Pt s 3ae @ ?

A) T

B) W
C) g
D) o

Q0. MREEHeAWMIWEY _ #

LS
A) 1822
B) 1832
C) 1852
D) 1884
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92.

93.

éIWHMMWMM

91, "The amount of energy that will be

available to big fish in the food chain :
Small Algae — Zooplankton — Small
Fish — Big Fish, if 10000 J of energy
is available to small algae from the
sun is

A) 1000 J
B) 100 J
C) 10J
D) 0.1J

The dialysing fluid used during
dialysis is devoid of nitrogenous
wastes but has the same osmotic
pressure as

A) Urine
B) Blood

| C) Lymph

D) Water

Which of the following statements
are not correct ?

A) Basic event in reproduction is
the creation of a DNA copy

B) The DNA in the cell nucleus
is the information source for
making proteins

C) Two copies of the DNA are
made in a reproducing cell

D) Evolution during reproduction
is the basis for variation

91. IRk gd & S Fash = Iuerea It 10000 J
3, ¢, BR FaH — AT — Bl Aol
—s 52 ol SITER @ § adt Heh
JUTeY Fsil ohi WA BNt

A) 1000 J
B) 100J
C) 104
D)o.1J
92. dIE ™ N TG e 59 H ARG

arafire e B Tg U WRRY I
FEAA BT |

A) T3
B) W4
C) i
D) S/

03. feRfee A @ F-aT FuT aa TE & 7

A)mﬁmmzﬁmuﬁﬁﬁ
w1 fomior &

B) Hfrm g # T N T
FRugEn w8

C) w e Hifve § Sy A
3 wiafafat s st

D) WoFF % R e faferaar @
&315 18

oo 3VD




94,

95.

96.

97.

The traits controlled ‘by specific
genes and are passed from one
generation to other is

A) Acquired trait
B) Inherited trait
C) Dominant trait
D) Recessive trait

An animal having rudimentary eyes
among the following

A) Octopus
B) House fly
C) Cockroach

D) Planaria

The scientist who gave the theory of
evolution is

A) Harold C. Urey
B) Charles Darwin
C) J. B. S. Haldane

D) Stanley L. Miller -

Where are the reproductive parts of
angiosperms located ?

A) Fruits
B) Seeds
C) Flower
D) Root

94. 3§ 1w s fafire shw & g iR R &
3t e gt & gt i At Re o &
A) 3utfifa u
B) SAraf¥ I
C) vt 1w
D) gt 1ot

95. Frafeifea & & e e f seafysfia
@€ ?
A) RTd
B) we neE
C) #iara
D) =i

96. 399 =1 fogia g e 3 R ?

A) Wies #t. g
B) =red gife
C) . &it. w. gieaq
D) ¥ wd. fireer
97. Aot 3 S o7 el fRm an E ?
A) &&
B) s

C) g~
D) W@/
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98,

99.

100.

Which trophic level do pesticides
enter the food chain ?

A) Producers
B) Herbivores
C) Camivores

D) Top carnivores
Energy derived from food we eat is
stored in our body in the form of

A) Glucose
B) Starch

- C) Glycogen

D) Glucagon

Which of the following are responsible
for the opening and closing of the
stomatal pore ?

A) Epidermal cells
B) Guard cells
C) Chloroplasts

D) Nucleus

o —
o ———

98. frm Wifeerar TR W fieArh "R FEen

Hofreaad?
A) IEEH

B) wmETerl

C) miarerd

D) i wiaErd

09, TR ERT & Y ¥ieH 3 Fierar S g

i A Hw9 3 wfta At 1

A) T
B) BN
C) TFHISH

D) e

100. T % fox % e 3ik e 9 % R

Fraffen 3§ 4 9 SRl § 7
A) STErEE iRt

B) & Sl

C) TR

D) 5&
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Answer Key for 3 VD (Set-B)

Q. No. | Answer Key Q. No. | Answer Key
1 B 51 A
2 c 52 A
3 A 53 c
4 D 54 B
5 D 55 B
6 B 56 D
7 B 57 Cc
8 C 58 C
9 C 59 D

10 D 60 Cc
11 A 61 C
12 D 62 B
13 B 63 B
14 D 64 A
15 c 65 D
16 c 66 B
17 B 67 A
18 D 68 Cc
19 B 69 A
20 c 70 A
21 D 71 B
22 A 72 A
23 D 73 D
24 B 74 B
25 D 75 A
26 A 76 D
27 A 77 B
28 A 78 A
29 B 79 D
30 Cc 80 c
31 A 81 B
32 B 82 B
33 Cc 83 A
34 A 84 Cc
35 B 85 C
36 C 86 C
37 B 87 B
38 C 88 Cc
39 A 89 C
40 B 90 A
41 A 91 C
42 D 92 B
43 Cc 93 D
44 D 94 B
45 C 95 D
46 A 96 B
47 A 97 Cc
48 A 98 A
49 B 99 C
50 A 100 B




